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He had to smoking because he had
brasthing
(A) wipe out (B) give up
(C) set out (D) put out

When we sleep the bodinly functions
clown

(A) fast
(C) Normal

(B) slow

(D) strange

In chapter ‘The Raja Dream’ what were the
two pools flled with in Rana’s dreams

(A) flower (B) jewlary
(C) kheer and mask (D) water

Chooes the opposite word of laugh.

(A) weep (B) happy

(C) enjoyed (D) delight

In chapter ‘ONE TWO THREE’ many
people tried to _ what was in the king’s
mind.

(A) Guess (B) love

(C) hate (D) saked

Poem ‘The Recycling Rap’ was written by:-
(A) Charles mackary  (B) John Keeds
(C) John Postex (D)
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The Maldives is a archipelago in southern

asia male up of a group of islands.
(A) 1190 (B) 1290
(C) 1109 (D) 1090

Choose the correct word —

(A) handicaped (B) handicapped
(C) hendicapped (D) handicappad
Kalpana Chowlawas bornin

(A) Rajsthan (B) Haryana

(C) Karnatak (D) Punjab
Poem ‘MY SHADOW’ was written by.
(A) Charles Mackary

(B) John Foster

(C) Robert Louis Stevenson

(D) John Keats

In chapter ‘My first role in life’ bodhry
played the role of-

(A) Father (B) Mother

(C) Dasharath (D) Shrawan Kumar
In __ Sikkim became the 22th state of
India

(A) 1985 (B) 1948

(C) 1962 (D) 1975

Fill in the blanks

(A) A (B) An

(C) The (D) none
Heisangry _ my behavior.

(A) of (B) on

(C) at (D) with
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The thief jumped __ the compound wall
(A) from (B) into

(C)in (D) over

She is expeted to reach here 8’0 Clok
(A) at (B) on

(C) by (D) about

The meaning of phrasal verb. ‘Break in’

(A) to enter by force  (B) to start suddenly
(C)toend (D) to fail

The meaning of phrasal verb ‘Eallup’

(A) to recall (B) to require

(C) to need (D) to summon
Chooes the error part
(A) not only Mohan
(C) friends are
Chooes the error part.
(A) He said that

(B) He were intending
(C)todo it the

(D) Following day

(B) but also her
(D) clishonest



